
Q Ans3 

Solution 

8ioic hiome y 
Class-9 

JEE Main Level uestions 

CO Aps3 

Mole (onept 

Teochirg 

1 Phosphonw (P4)' Tetra atomic molecule 
&lphus (S3) Octa- aom?c molecule 

3 Ehane CCat6)'- Cca bonN6 Hydroens 

Methane (C Hu) Perta ctonsc molecule 

Q Ans 3. 

Tosk 

8outien Ardo fon =N Aida 

No of electron in one mole of Na im=4| 

8alut an Hydrogen H 

Atomic numben (z) =1 Mays number (A) = I 

1 

nA-7= |-|=0 

Hexa- atonic molerule 



Ans 4. 
`olution One molecule of amrnoniuro diehramae 
IHu Cr04 Cortais 19 atoms 

Ans 2 

F& 

Sduian Molecalen ormela of Borium Garbont 
?s Ba co, 

19x 6 02x1o atomy 

- lyxtos atoms. 

Imole BacOs ’ 3 Oxge 

Bacog 

|.5 oxyqen atom, no of mde of Ba(a-2 

31 - 5 

Oggen atom. 

and u moles of Hg0 

atomy 

-05 molep 

|Selutin PoBash alu’ Kasa, Al, (Sai), 4tl�0 
’2 mde of kt, a males of A.ymdes of so 

’3O no. of moles of the fndpendert spect e 
Present fn one mle of pach alun 



Q6> Ans' I 

8dutien A mole conejponds o the mas of 
Sub stanre that caotoin 6-09 3X I0 pas ticky 

Glucose (CsHp o)>I molecule Cantcing 6 OrNges 
atorn 

| molece 6x6. 023X (023 
0.95 nole of glucose Cortain =o25X6 X6.02 xI 

Total no-.of otoms fo one mole = 

Ans ' 

=9X103atorn 
of ogen 

Total no.of atomN îo molecule x No -ofala 

= 45 X6 xo3 atorg Imole. 

8olutign' I Molerle of Pcls cotoins 4atomg. 

No-of atorng =sx (mole of Pclg) x6.o2 Xlo23. 

0a Ans 2 

z 4x|.4X 6-02 xIo233.312 xIo1 

Soutin l mole of H Cortains 6-023xI23 malecuey 

£ each mdecule of Ha Cartoâny 
The total no. of elecho in one mole of 
QYe 1Q.OLI6 XI0 



W 

aouhoo Avogad1o's Nurobe(N)- 6.0)2x10B repe 
`punding rate= lo laxh iupey per second 

=lo° rupeLy per seCord. 

Tme (ecoda): lotal amant rpee) 

Rrne Cecondy) 

Qub Ans 4 

Rate Crupey tseond) 

Convert secondy to yecc. 
TIrne 

6:022xlo3 
lo6 

6-022 XIo secords 

yeay = 6.022%10lx3169 xo 

No of molecules 
Tota ato 

= -|-908 xo vears 

No. of mole o So =R o5 roles. 
STP 

=0:5X 6.022 X\O. 

65 

0.5X6022x lox3=.033 XloS 

a) 22-4 of Heliuo ad sTp 
Atony - x6022 Klo25 6-022 Xlo> 

3) 04L of Hgrosen(H¡) ot sTP. 
Total atonJ= |x 6-022x (o3 x2= 20y4x04. 

4) l1:2L Df Methae. 
Total ay 0i5 X6 02xl0 x5= |15055 X1ß9 

Methane fas 

4 
maimun atoy 



QB Q 

Ang , 3 

D Imole of Ha Ix 2x NA INAv 

Advanted level Questiang 

1). mde of co,: Qx3x N� = 6NA. 
3) mde of He 2xlx NA =NA 

4)0i5 mole of Oz 05 X3XN 

QIAns' I,2,3, 4 4. 

&oton 05 moles of onygen s0.5 xNA noey. 

AnsI 

|) 0-5 m ole of soa -045 XNA rmolely. 

3) 05 roole of so,= 05 xNA moleeule 
) o.5 mole of hydro en 

Q Ans y 4 

1.5 NA 

&oulim l Mde fs eahal to 6o22 xlo?> potby 

noof atoy 

&olion I mole o 
ol66 moley 

en 0.5 x NA moleculy 

avagodro nmber (Na) 

X 

3X NA Ctomy. 

I= 3XO. |66x NA= 049 N� 

|rode H , amole tle have sure 



Q6 

Ans L 4. 

|mle a teium 6022X13. 

O25 mole of elium X 

&dutin I mole of aco, Gaotain B'o orton 

0-26 mole 

= |·5 XIo3 aton 

| mole ’3x 609x\0 23 

Htroger ata 

23. 

atomy. 

X= 3xO. 25 X 6X 10= & 
4.5 

Metie Mat ching 
QI Ans D C )A 3) D ) B 

Solutfon Imole tH, SOy lotair mdes 

xl04.5X0ro 

D Nihec Otde (No) ’ ) &XN� =oX6. 023X10=1.20x61 

0 Glucose (Cstpo) -) xN� l:445Xo5 



Cancephal Undon andPn g Quetfory 

Ans 3. 

Leorner's lask 

Solutirn ABomicity is te number of atorns 
present 3o a molecule. 

utn Moleaule ?s te Srnalleg pavicle of 

matter that eist ndependernty. 

Q3 Ans'-4. 
Boluthon l mole Containy 

molecuy e patcles. 
4 otomn 6022 X102 tony 

Zînc vapour-> 6. 022 XIo ctom 

Qu Ans | 

6. 022X10 atony 1 

Aromoha (NH)’ 6-022 x1o3 moleruke 

&ol fm No. of tnoly o of Paricl 

mole 

6-022 X3 

Ue mole of hydroqen atan. 
theu 



8odutton Na (2-1)’ l electrang 

8odum fon have 

Q1Ans 4 
8olutfon Fo Has ’+| ato 

= 

F8 mol of H¡s ’ x3 

Q3 Ans3 

Nat osey 1elo cton. 

Nat- lo elechron. 
lo moles of electron 

Total numbr f otons o 2 mole = 

8olutfn fa tmole 

Ans 

3 atoms prejert 

ato. 

6x6.099 xl0 36 xIO23 
23-6x1024 

6crtomy. 

Total sub atanie partcly 1tl= 2 

H aton lelectrn 

and I prot puaet 

2 mole of aub atomfe 
Imole of hydroen atans. 

partfcly preert 

&oluken Ravdlvirg sub atamse parteby 
He Contan a elect an. 

rmeany 



Sol utim I mole of No Cort au 6.022x(D29 
maleul 

T! lo3 molecules semoved then 

Ramoiring moleculu &o92 XI03 ID3 

a. 

- (6. 022-1)xio3 

Ans 
bouiont Cre mole of c02 m eany 

-502 2xn3 

Qa Ans' C 

JEE Min LeveL Questions 

Che mole of c= 6.02X18 otony oCarbon 
One mole of coy = 2 moles of oger atong 

Soluin ! 

One mole of Coz = 6-bLX1o23 moleculy of 

a) 2 moes of Sg X8 XNA = l6 N  otong 

co, 

5) 6 mole Df S -’ 6xNA = 6 NA etn 
c) 5:5 mdes of S0, ’5X3XNA = l6.5 N atong 

d) 4 mole of co’ 4x 2x NA =8 NA ctong. 



&oluion 

Proto: 1, elector 1o neutord: 1 

Imole 

|malo of"3 

97x6 02 3 xIo poBong 
3lox 6 023 X 10 

Qi4b Ans 3 

’IX6 023XI0 neutN 23 
eleN 

&olutm'- Ona mole Sociur Gantaîns 

’6022xio23 otomg o Sodiun 1 

Q5 Ans- ,3 

’6022 x Io23 moleculy of sodiur 

&oluon The chag ot one electran Îs 
16025 x lo --19 

Charg of or one mole of electon = 

I-6025 Xo c A. 023 Xloatons 
|mol 

- 96,50o cImol t | faraday 

10 

is 

I 

Solution- No of moleculu = No:of mole xNA 
0. IK mdey of Co, = 0.25 NA 

Lort mole have let no. of molerle 



8dwtie 
) Imole of so) 

R) O m ole of NHh: 0.27+3]= 0.2X|0 =2ebtny 

4) mole of sulphwn = xl6- 32 electrory 

&duin Atomiiy 

Qia Ans' 4. 

l6+16 -32 elecoN 

dduti | mole Hsa, 6.022 omoeculy 

I mole ofHsa, 5o5 XI0 moleruly 

Oo Ans'- 4. 

6.022 X\o'x y |. 505 Xlo23. = 

1.505 X| 

ol moles 

6:022 XJe 

&dutfon' Carbon mgnoi da co: | C+1 Oygen 

= 0.24| moles 

| mole ’ 6.022 X\o3 C aton 

23 1= 6-022x10xo.| = 6.022 XIox I6 
=6022 XxIo 



Adanced level Qrehor 

I mole of ta Qx6 022X l0atoJ 

2 moley of Ho Qx6022x10 at om 
12.oyexlo3 atan 

3) 0Q5mole of Co, = 025x3X 6022X IO3 
= 0.75X6-o22XI0 45xoatony 

Qa Ansl A 

4)| mdle o No = Ixx6-022 XI o 

23 

Q3) Ans' 20 

= 19-o44 xIo2 atom 

Souin Magne[iunn io (Mgta) = l0 mde ofeletas 

I mole = 6-022 x10 aytely. 23 

Tntgere 

12 

= (2 male of protoog 
= (2 moley of netrorg. 

= aX 10 = 20 moles of 
eletay 



atomg 
)o.5X6=3 oger 

0yg 
CO 2.5 mol of 2 co 2) 5X3 =45 0'Y9n 

3) 2x4=8 Oyge atay. 

OYg en at ony 
No. of rmy of 

|3 

D) 05 mol of gluCOS e 

A) 1.5 mole of Ba coa )|:5x3 =45 oyn 

) 2 D)| 

B) mol of ta SOy 

No of Moles of Compoved 

B) 3 Q5 Ans A) 4. 

Matis Malching 

appiouinately 96352 Coulombs. 
e charge of Imole of prolons is Soluim The charge 

2u Ans'- 96,352 
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